5 (o) Gien 605 = EZ
For (= 4 danrels /—/rm e 5’&736&@/{"

Awd = 1/ Er&gﬁ A . ﬁé’? 20275 Frlang s

For € =2, Aernels

/42‘52‘&-{:"/45?’5 ‘5 — AF*M:E:G‘/f}v:

for (=40 heanels
At =20 Blegs = Aot = 32925 By

b) = Lean :“,—i!-—a-' o tsers
( AH e TS 5_3.___

(O for C=4 chontels . iy = 1) Erlanns H= 105 seemdsppuy
]{m the {f&aj C dhart | we Aaye

/Dr[ofe&f 0] 2 503
=> /)r[“{ﬂ%/ >0 5] = Pf[a&z[aj >o]-e)?[—(<_‘— ) - 2052 /1]

T 003X ?)rf[—-(?'/-/)x&%’os] =oe/]

—




345 (ont 'd
Lor (= a0 chanmeds . Asang = 1% Efﬁfjs e hawe

/%{My >0 ] Toof
= Pl dshy >a052c] = Prl e > Q?G(C—Afm}&nsee/HJ

= 00§ X '?_'KP[‘ (.%9?[4 )Xclo/105jllo~¢f7

For €= 40 tloarcls . Atwat =3/ 5[975’ we have
Pr[dafaij)] oo/
=7 Pf[&&éij)&u&c] = 0-07;{ ‘?XFI—('?-Q-;I)};@AQS}.—_'—0.9,13

(d) From C0) We @an See Thet TH2 /ﬁfvé&éfﬁtj that o call
vl be delaged ]%r move fon an Steods o oa (st ol
delaged systen 2 4ess Uhan a;{ for atl the i ferent
Channad  pumbors . Thus o fost call o(z%/ea’ s?gz‘ﬁm
fer]%vm better Then @ systom Hat a,/ffp_s blocked alls .

BlE o 7 Coll rewe patten. T -f%z‘erfm Sg»wf,
j;ow ]me s z‘z:;zmm“dz‘er 25
Prz P (4 )= e (2L
Where [ 55 Thy Teoomit power m bast SLion, D
the .mfm L thy Corder af e roarast Co—Chonml €2lls.
Y o e gnfj\@f vadins . In this cue | = omW, M=7,

ole=im, N=3 Thus howe




3 Lon? 'df

B (A3 Y w7
/ofi?/o -—j-__(_.___f_.r)—‘ -(-—/wd}gm

JmW

= ;ogj W ¥ (‘Ej—;r -3
ra -———/MW/ <-jpodBm =Sy 2470,/ m

For 4 cell resse Pa?ffern, Ned we bave

/
/’O gﬁ”} fmWx (\{3}'—4')’)—3

im
“’"W <'/00sz?m = )/> 62/?/}7

323 (ont'd
(5 SMR=-70- (-111) =2/ 4B
&) SWR = -90 -~ (~/§2) = M
@) SWR= ~fo- (06> = (16 dB
(¢) SWR = ~fo-(-/e3-1) :@
(f) KR = -Jo-(-114) = 24 dE




3.22] (a) For AMPS. Thi chemnil lacdnidsh Bw=30K#z

Griven  poise ]fywe F=/odBE=/0. ne Aaee

hotse ﬁ'ﬂzrr-‘- K-Bo-F-T,  whwe K25 Boltzran st
7; :-2705/&
= pewe j'_?’%z-‘“r = }'33)(/0*23;(50)({03)(/0;(27‘0

S/2xp07 (s = /172 (dBm)

(rb)ﬁ? 65/4/ ,gw-‘dsekffg

= ok fltnfx' TK By F 7o <3840 ‘”Xiwwfx/o)f-?ﬁo
S IXf o5 (W) = -ty (dBm)

() For USDC. By= 3005,
= fgtae f&m = 72 (ABm)

(&) For DECT, Bw=17:3 iz
= hewst Herr = 4316 (dpmy

(e) For IS-95. By =r2288 FiHz

= nose f{dvy :7/03-/(d/€m)
() For (T2, Bu=jockHz
= notx Hory = - 114 (dBm)

3B () SMR= gl level (dfmy - nnse floor (2Emd
= -F0- (~11§.2) =272 dF




T 41 (&) Giver Logn = Fbx0t, (o3t Uf MT50 . Camss =$15x0°

(=l o‘]fa base statyon -, Qs:;éfxmf' st 0]5 ad ver-

tosemert . (ad= g5k, we hewe

+he ranmvber 0f The base Sfa%ﬁ 1%
N = Loor — Coorco— Cad . EXi0 - /‘5){(96'5'*/95-_-_ 3

JE—

Cos S xjo® —

e able To mstall .

(b Given M= 8 cells, Zotad Gversge aren Awt = [40fnm’.
= Co?w@mfe area 0/;’5 each col{  Aesch = —A%( = f—;f: /5
Swce Aok 26 R°  ne hawe

K= Jéff?‘ - /éz—g = gbkm

(¢) For ench veor, coch custamer wuill oy P=zoxz = 6o,
v J

Aﬁsm the numée; af CUsiomers on The fgﬂ,{ 0(2/ °]L
Seerte 35 M, [Ae smss bilhing rwenus ﬁg He ‘":fw/af
. o e gs billg
]67’”#-' year 9/*' ?@ﬂu’w) 25
G=( M+2M744M+8M) F = (EM-P
We nwed G Z Fl0x10¢ = 150p 2 lox0®

—=> M >roxte _ jox0®

5P T 15 agee - T

/L/M Ths  Dupiinctn fopurvber o]’ castomor grn ths Forst éé’”{/
vy

0 /'L Serrite 45 12

ms—————y

(d) rumber Cf wsers par Sguare ken 22;% = ;_f;: =8 users iy

—————————" |

UV A R



